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Question Paper Code : 1337
B.A. (Part-III)  Examination, 2018

SOCIOLOGY
[ Third (B) Paper ]

( Industrial Sociology )
Time : Three Hours] [Maximum Marks : 50
Note : Answer five questions in all. Question No.1 is

compulsory. Besides this, one question is to be
attempted from each unit.

uksV % dqy ik¡p iz'uksa ds mÙkj nhft,A izFke iz'u vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u fd;k tkuk gSA

1. Write short notes on the following : [2x10=20]
fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Absenteeism
vuqifLFkfrokn

(b) Scientific Management
oSKkfud izcU/ku
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lgHkkxh izcU/k D;k gS \ vkS|ksfxd laxBuksa ds fy, bldh

Hkwfedk dh foospuk dhft,A

7. Write an essay on human relation school. [8]
ekuo lEcU/k lEiznk; ij fucU/k fyf[k,A

UNIT-IV @ bdkbZ&IV
8. Define collective bargaining. Discuss its functions for

industry. [8]
lkewfgd lkSnsckth dks ifjHkkf"kr dhft,A m|ksx ds fy, blds

izdk;ksZa dh foospuk dhft,A

9. Define Trade Union. Discuss their role in resolving
industrial conflicts. [8]
Jfed la?k dks ifjHkkf"kr dhft,A vkS|ksfxd la?k"kksZa dks lqy>kus

esa budh Hkwfedk dk o.kZu dhft,A
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(c) Dysfunctions of trade union
Je la?k ds vizdk;Z

(d) Significance of Trade Union Act
Jfed la?k vf/kfu;e dk egÙo

(e) Collective Bargaining
lkewfgd lkSnsckth

(f) Fatigue
Fkdku

(g) Working Conditions in Industrial Sector
vkS|ksfxd {ks= esa dke dh n'kk,¡

(h) Child Labour
cky Je

(i) Four characteristics of industrial Family
vkS|ksfxd ifjokj dh pkj fo'ks"krk,¡

(j) Lockout
rkykcUnh
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UNIT-I @ bdkbZ&I
2. Discuss the scope and importance of industrial sociology

in contemporary society. [7]
orZeku lkekftd lekt esa vkS|ksfxd lekt'kkL= ds fo"k;{ks=

vkSj egÙo dh foospuk dhft,A

3. Discuss the emergence of modern industrial society. [7]
vk/kqfud vkS|ksfxd lekt ds mn~Hko dh foospuk dhft,A

UNIT-II @ bdkbZ&II
4. What do you mean by class structure ? Explain the basic

determinants of industrial class structure. [7]
oxZ lajpuk ls vki D;k le>rs gSa \ vkS|ksfxd oxZ lajpuk ds

vk/kkjHkwr fu/kkZjdksa dk o.kZu dhft,A

5. What do you understand by entrepreneurship ? Discuss
the features of good entrepreneur. [7]
m|ferk ls vki D;k le>rs gSa \ ,d vPNs m|eh dh

fo'ks"krkvksa dh foospuk dhft,A

UNIT-III @ bdkbZ&III
6. What is Participatory Management ? Discuss its role in

industrial organisations. [8]
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